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’ 100kN/mM%#BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM#%#8% % = -~ = —-|3m%xHZ5 -~ = = =
ZFhst -l -~ = -| #hrist -~ = = = ZhnLst = -~ = -| #hilst -~ = = =
9 100kN/mM%E{BZ % -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
ZFhst 1.00/0.00 ~ 6.92 87.63] #hLlst 1000 ~ 692 1.90 9.59 ZhnLst 1.00[ 500 ~ 894 87.63] ZnLls | 500 ~ 894 1.90 9.59
5 100kN/m%# 2 % 1.00[/0.00 ~ 235 136.63|3mZE#BZ S| - ~ - - -| 100kN/M%#8Z% % 1.00( 10.67 ~ 19.96 136.63| 3m%Ei#B2 % -~ = = =
ZFhst 1.00/2.35 ~ 10.13 100.00[ x5t | 0.00 ~ 10.13| 2.47 12.48 ZhLst 1.00[ 500 ~ 10.67 100.00f =14t | 500 ~ 19.96] 247 12.48
A 100kN/m%# 2 % 1.00/0.00 ~ 3.14 150.04|3mZE#BZ S| - ~ - - -| 100kN/M%#8Z% % 1.00( 10.59 ~ 27.09 150.04| 3m%E#B2 % -~ = = =
ZFhst 1.00] 3.14 ~ 10.92 100.00[ x5t | 0.00 ~ 10.92| 2.78 14.04 ZhLst 1.00[ 500 ~ 10.59 100.00f Zh st | 500 ~ 27.09] 2.78 14.04
- 100kN/ Mm% 2 % 1.00/0.00 ~ 3.23 151.64|3m%E#8%%(0.00 ~ 0.28| 3.16 15.97| 100kN/m%#8 2 % 1.00( 10.65 ~ 28.10 151.64|3m%i#82 5| 25.00 ~ 28.10| 3.16 15.97
ZFhst 1.00] 3.23 ~ 11.01 100.00f Zhist [0.28 ~ 11.01| 3.00 15.16 ZhLst 1.00[ 500 ~ 10.65 100.00f = st | 5.00 ~ 25.00| 3.00 15.16
5 100kN/m%# 2 % 1.00[{0.00 ~ 3.25 152.06|3m%Ei#8%%(0.00 ~ 0.25| 3.14 15.87| 100kN/m%#82 % 1.00( 10.61 ~ 28.57 152.06(3m%#82 %[ 25.00 ~ 28.57| 3.14 15.87
Fhst 1.00/3.25 ~ 11.04 100.00| Zhist [0.25 ~ 11.04] 3.00 15.16 ZzhLst 1.00[ 500 ~ 10.61 100.00f =4t | 500 ~ 2500 3.00 15.16
7 100kN/ Mm% 2 % 1.00[{0.00 ~ 243 138.06|3m%E#BZ 5| - ~ - - -| 100kN/M%#BZ % 1.00[ 10.55 ~ 21.40 138.06| 3m%Ei#B2 % -~ = = =
Thst 1.00| 2.43 ~ 10.22 100.00| Zh st [0.00 ~ 10.22| 2.34 11.81 ZFhLst 1.00[ 500 ~ 10.55 100.00f Zh st | 500 ~ 21.40| 234 11.81
: 100kN/MZ#B% % 1.00[0.00 ~ 218 133.81|3mZx#BRB| - ~ = - —| 100kN/mM%#BZ% % 1.00( 11.09 ~ 23.03 133.81|3m%x#B2 % = ~ = = =
Thst 1.00[2.18 ~ 996 100.00| Zh st | 000 ~ 996 252 12.76 ZFhLst 1.00[ 500 ~ 11.09 100.00f Zh st | 500 ~ 23.03| 252 12.76
g 100kN/MZ#B% % 1.00/0.00 ~ 278 144.00(3mZ#BRB| - ~ = - —| 100kN/mM%#BZ% % 1.00( 10.64 ~ 26.23 144.00| 3m%E#BZ % = ~ = = =
Thst 1.00[2.78 ~ 1057 100.00( Zh st | 000 ~ 1057 2.62 13.25 ZFhLst 1.00[ 500 ~ 10.64 100.00f Zh st | 500 ~ 26.23| 2.62 13.25
0 100kN/MZ#B% % 1.00[0.00 ~ 275 143.40(3mZE#BRB| - ~ = - —| 100kN/mM%#BZ% % 1.00( 10.90 ~ 29.89 143.40| 3m%E#BZ % = ~ = = =
Thst 1.00[2.75 ~ 1053 100.00| Zh st | 000 ~ 10.53| 2.88 14.54 ZFhLst 1.00[ 500 ~ 10.90 100.00f Zh st | 500 ~ 29.89| 288 1454
. 100kN/MZ#B% % 1.00[0.00 ~ 252 139.47|3m%E#BR S| - ~ = - —| 100kN/mM%#BZ% % 1.00( 10.81 ~ 24380 139.47|3m%E#B2 % = ~ = = =
Thst 1.00| 2.52 ~ 10.30 100.00( x5t | 000 ~ 10.30| 2.57 13.01 ZFhLst 1.00[ 500 ~ 10.81 100.00f Zh st | 500 ~ 24.80| 257 13.01
> 100kN/MZ#B% % 1.00[0.00 ~ 272 142.89(3m%E#BRBH| - ~ = - —| 100kN/mM%#BZ% % 1.00( 10.66 ~ 25.70 142.89|3m%E#B2 % = ~ = = =
Thst 1.00[ 2.72 ~ 10.50 100.00| Zh st [ 000 ~ 1050 2.61 13.21 ZFhLst 1.00[ 500 ~ 10.66 100.00f Zh st | 500 ~ 2570| 2.61 13.21
0 100kN/MZ#B% % 1.00[0.00 ~ 218 133.87|3m%x#BRB| - ~ = - —| 100kN/mM%#BZ% % 1.00( 11.12 ~ 23.30 133.87|3m%x#BZ % = ~ = = =
Thst 1.00[2.18 ~ 997 100.00( Zh st 000 ~ 997 252 12.74 ZhLst 1.00[ 500 ~ 11.12 100.00f Zh st | 500 ~ 23.30| 252 12.74
o 100kN/MZ#B% % 1.00{0.00 ~ 0.1 113.65|3mZ&#BR5H| - ~ = - —| 100kN/mM%#Z% % 1.00( 10.60 ~ 13.43 113.65|3m%x#B2 % = ~ = = =
Thst 1.00/091 ~ 870 100.00( Zh st | 000 ~ 8.70f 2.13 10.77 ZFhLst 1.00[ 500 ~ 10.60 100.00f Zh st | 500 ~ 13.43| 213 10.77
15 100kN/mM%#8 2 % -l -~ = —-|3m%EiBZ5 -~ = = —| 100kN/m%#BZ % = -~ = - 3m%iBx 5 o ~ = = =
zhst 1.00/0.00 ~ 6.80 86.05| ThLls |000 ~ 680] 1.86 9.42 ZhLst 100 500 ~ 854 86.05| ThLlst | 500 ~ 854 1.86 9.42
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16 100kN/mM%#BZ 5 -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM#%#8% % = -~ = —-|3m%xHZ5 -~ = = =
s 1.00/0.00 ~ 6.76 85.48| =hLls |000 ~ 6.76] 1.75 8.84 Lo 1.00] 500 ~ 822 85.48| TnLst | 500 ~ 8.22| 1.75 8.84
17 100kN/mM%E{BZ % -l -~ = -|3mZEi#BZ5 = ~ = = —| 100kN/mM%#8% % = -~ = —-|3m&xHZ5 -~ = = =
zhLst -l -~ = -| Zh st -~ = = = ZnLst = -~ = -| #hiist -~ = = =
100kN/mM%BZ 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
zh st ~ zh st ~ Lt ~ ZnLst ~
100kN/mM%{BZ 5 ~ ImEHBZRD ~ 100kN/mM%#8% % ~ IMEBZD ~
zhLst ~ zh st ~ Lt ~ ZnLst ~
100kN/mM%#BZ 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
zh st ~ zh st ~ ZnLst ~ ZnLst ~
100kN/mM%EBZ % ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
Zh st ~ zh st ~ LSt ~ ZnLst ~
100kN/mM%BZ 5 ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ ZhLst ~ st ~
100kN/mMZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8Z % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ ZhLst ~ ZhLst ~
100kN/mM%#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zh st ~ ZhLst ~ ZhLst ~
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